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[. FEFEISLOHE
1. FEEFHEHIA
OFFE & PEE A 0 0 0
OAEEMA 0 0 0
®=FEIUA 146, 271 146, 271 0
TEFA=T 102, 000 102, 000 0
IR ¢ 44,271 44,271 0
@OFFEINA 7, 446 7, 354 92
o e FECEHA 290 290 0
b H T ECEHIA 30 30 0
i I GRS TN 260 260
S o SEBRBHIUA 4, 904 4,812 92
Bﬁmiﬁ%‘ﬁi%‘ﬁﬂ 600 960 A 360
A R sz BRost 240 288 A 48
FOIE il Rt 1,950 650 650
P Rl v 2, 000 2, 800 A 800
T X A MR 114 114 0
BREREHA 2, 240 2,240 0
T GRR 1, 360 1, 360 0
FEOHTR Gkt 880 880 0
FCrE B FECRHI A 12 12 0
2R IR FHB 12 12 0
OHMEILA 30 30
Z DAHEA 30 30 0
FEEHNAG (a) 153, 747 153, 655 92
2. HEIGEIN
OFFEE I
EESSNiESE- SN 2, 086 3, 406 A 1,320
B F= A B 2 B 288 288 0
BT - SR BA AR 388 388 0
R— BR_R— g 910 2,230 A 1,320
FCAEES T PR 2 il S 500 500 0
4« ALBRAEZERS He S 1, 406 1, 406 0
botAiEEESESE 1,406 1, 406 0
AR - R ER R S 10, 645 10, 384 261
ERGERER - ST 4, 605 5, 205 A 600
S1 5 BB SR E T 5, 656 4,611 1,045
PRI A B ) e 384 568 A 184
PNCES K S 1, 480 1, 480 0
A B —Fy NRRE 1,480 1, 480 0
Tk B fa G- 3 31, 382 34, 565 A 3,183
65 A 26, 959 29, 630 A 2,671
EEEF 4,423 4,935 A 512
15 B S 5, 592 6, 628 A 1,036
JRIERAS 15 3 HY 0 0 0




e H BSOELETEQD [sRsEEYmTEO[ % RO—©
HS T E R 5, 692 5, 874 /A 182
F DOMZEFFHEE 8,976 8,976 0
(Gt (FER) 8,976 8,976 0
HERHE () 67, 259 72,719 A 5, 460
QOEHE T H
& B s 53 H 43, 143 35, 703 7, 440
e 5 37, 245 30, 314 6, 931
et A 5, 898 5, 389 509
15 B R 3 HA 5, 664 6, 694 A 1,030
JRIRAA A S HY 0 0 0
e - ZESIM 2,478 2,994 A 516
e HH T S A 2,178 2, 694 A 516
e ¢ 300 300 0
FHITERI S 5, 692 5, 874 A 182
T O ERS B HRE 3 19, 492 19, 638 A 146
B A 172 172 0
wmiEE 660 396 264
RS 2,610 3,006 A 396
MEPT 462 660 A 198
B M R 11, 116 10, 736 380
AGEEEVE 792 2,376 A 1,584
e 3, 680 2,292 1, 388
BELZHEE (O 76, 469 70, 903 5, 566
HEEE S HE (D)= (b) + (c) 143, 728 143, 622 106
FEITEICEGER (e) =(a) — (d) 10, 019 10, 033 A 14
. ETHENN S OE
1. BEETEENLA
e & PEBUTA I
IRIRAG AT 5 24 PE BRI A 0 0 0
1B A 5 24 RE BRI 10, 000 10, 000 0
2. & OAIUA
I T3 A SR BB & 0 0 0
FEIRENN (f) 10, 000 10, 000 0
1. EIEE)
IR T P A 3
IRIEAG AT 5 24 6 A 3 HY 12, 079 12,134 A 55
1B B 5| X4 R S S H 10, 000 10, 000 0
Z O ETEE) S
EMETHEH (GL&) 0 131 A 131
g E S HE () 22,079 22, 265 A 186
FEIEENN G ERR (h)=(F) - (g) A 12,079 A 12, 265 186
. ThRES () 0 0 0
MHIN S AR (M) = (e) + (h) — (1) A 2,060 A 2,232 172
AR S 2% (B) 2, 060 2,232 A 172
SR GERE (O =W +®) 0 0 0
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